NANE:

Algebra
Set 4: Solving Equations——

Station 2

2. é=x+3

3.rd+x=86

4. 3x=6

5. 2x=12

6. 9=3x

Explain at least two strategies you used to solve the equations using algebra tiles.
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Solving Equatlons

Max had.some video games, and
then he bought fwe more games.
Now he has six games.
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Challenge 1-—Can you write an equation to represent this situation? Try itll @ - Iy

Challenge 2---Can you draw a piclure fo represent fhis equation? Ty illl ® *Hinf-use x as the
unknown piece of your situation.
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Challenge 3-—Can you solve this equation? Try itll Write a senfence hi/ escnbe what you would
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On average a killer whale can grow to g 2 frlends weni fo dinner at Joe's Crab

length of 9:meters, which is 4 meters- Shack, They pald atotal of $14. If they
:longer than o bottie-nosed dolphin. How ; divided the bill evenly; what Is x; the
long'Is a bottle-nosed dolphin? . ‘ f g amouni euch f;!end pald?.

Write an equation to represent this Write an equation 1o represent this
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Last week Tifany practiced her piano for
d total of 7 hours. This was 2 hours more
than she practiced fhe previous week.
How many hours did Tiffany practice the

previous week?

Wiite an equation o represent this
shuation.

Medel this equation and solve.

Use the model to solve each equation:

A pair of shoes costs $25. This'ls $14 less
than ihe cost of a pair of jeans. Find the
cost of the pair of jeans.

write an equation fo represent this -
situation.

Model this equation and solve.
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In each pictiire, the cup is hotding an unkriown umber of countegt, x. If there is morg
every cupis holding the sgfne number of co

pictare shows
ows x+ 5 =7, To'make the two side equal,
there must be 24ounters in the cup! This

means x= 2. ’

Work with other students£o write an equatign for each picture. Tien find the number of ¢
eachveup. You can use the cups and counters at the station to hglp you.
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